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61] = 6-[1000kg| = 6000kg
10,5[kg|=10,5-[1000g] =10500g
0,003[ 7] =0,003-[1000000g] = 3000¢

1
75[ke|=75-| o =75-[0,001r] = 0,075¢

=800-|0,001kg| = 0,8kg
- 3245. 00000077

1
800[g]=800- ke

1
3245 —3245. 000"

=0,003245¢

7 km| = 7-[1000000cm| = 7000000cm

10,5[m] =10,5-[100cm| = 1050cm

4\ dm|=4-110cm|=40cm

42[mm| =42 LI

=42-=0,042m

1000
530[cm| =530 ﬁm =530:[0,01m]=5,3m
1
dm|=5-|———km|=5- Tk = k
5ldm]=5 o km| =5 0,0005km

7km?| =7 -[1000000m2 | = 7000000m?

10,5[m?]=10,5- =105000¢m?

4| dm*|=4-1100cm?* | = 400cm?®

36[m?] = 36— knr®

1000000
=0,000036km*

450[cm®] = 450-|——m?

=36-

0,000001km’ | =

=450-]0,0001m*| =

m
10000
= 0,045m’
8[dm?| =8 ﬁmz = 8.[0,01m?] = 0,08m?
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la =100m’
1ha =100a =10000m"
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1/ =1dm’

Iml =1cm’

5[a]=5-[100m?| = 500m’
9,15[ha]=9,15-[1004] = 9154

0,05| ha|=0,05-[10000m” | = 500m*

i
36’ ] =36-| = a| = 36-[0.01a] = 0.36a

450[a] = 450-|—— ha| = 450-[0,01ha] = 4, Sha

100
0,8[%] = 0,8-|—— ha| = 0,8-[0,0001ha] = 0,00008

10000

ha

10,5[m’] = 10,5 [1000000¢r*] = 10500000¢’

s
—m
1000

8|ldm’|=8- =8-10,001m*| = 0,008m>

5[ slanr’]

9,15:9,15- 100/| =915 =915dm’

36[dl] = 36-| -1

10

=36-(0,1/|=3,60 =3,6dm’

7|m| = 7-11000dm? | = 7000dm® = 70001

0,8[cm’| = 0,8-|——dm* | = 0,8

1000
=0,00008dm’ =0,00008!

0,8[cm’] = 0,8ml] = 0,8-|——1| = 0,8-0,00017] = 0,00008!

0,0001dm’ | =

1000
45011] = 450- ﬁhl =450-[0,01hl] = 4,5h!
7[h| = 7-[60min| = 420min 20[min] =20- %h :%h
2,5[h] = 2,5-[60min] =150min 25:25-$h :%h
1 1
4 n] = 4-[3600s] = 14400 90[s]=90:|——h|=—nh
: ’ 3600 | 40
1] 1
30[min] = 30-|—h|==h=0,5h
60 | 2
45[min] = 45| = h|= 2 h = 0,75
60 | 4

1

3h 15\min|=3h+15-|—h

60

:3h+ih:3h+0,25h=3,25h




